SCMP crosstabs results

Demographics of Respondents

Gender P37

Frequenc Valid  Cumulati
y Percent ~ Percent ve Percent
Valid 1 Male 5 244 45.7 45.7 45.7
2 Female 7z 289 54.3 54.3 100.0
Total 533 100.0 100.0
Age il
Frequenc Valid  Cumulati
y Percent ~ Percent ve Percent
Valid 118-19 15 2.8 29 29
220-29 86 16.1 16.4 19.3
330-39 98 18.4 18.7 38.0
440 -49 108 20.2 20.5 58.5
550-59 101 19.0 19.2 7.7
6 60 or above 602 L | 117 21.9 223 100.0
Total 525 98.5 100.0
Missing System 8 15
Total 533 100.0
Education level £2/ff
Frequenc Valid  Cumulati
y Percent ~ Percent ve Percent
Valid 1 Primary or below /[\E S22 5l 73 13.7 13.8 13.8
U
2 Secondary &2 241 453 45.6 59.4
3 Tertiary or above KEL Ll 215 40.3 40.6 100.0
Total 529 99.3 100.0
Missing System 4 N
Total 533 100.0
Occupation 2%
Frequenc Valid  Cumulati
y Percent ~ Percent ve Percent
Valid 1 Managers and administrators/ 141 26.5 26.8 26.8
Professionals fTH F #3 A 5
2 Clerks / Service workers and 101 18.9 19.1 46.0
shop sales S R i A 5
3 Workers 258 . A 45 8.4 85 54.5
4 Students £24= 44 8.2 8.3 62.8
5 Housewives 52 J£ F i 88 16.4 16.6 79.4
6 Others H:Aifr 108 20.3 20.6 100.0
Total 527 98.8 100.0
Missing System 6 12
Total 533 100.0




Custom Tables

Q1 x Gender
sex Gender 471
1 Male 5 2 Female 7 Total
Column Row Column Row Column Row
ValidN  Valid N ValidN  Valid N ValidN  Valid N
Count % % Count % % Count % %
$Q1 What qualities should the 1 leadership 754544 7 & 150  61.7%  44.1% 190  65.8%  55.9% 341  639% 100.0%
chief executive who will be 2 good relationship with Beijing 68  27.8%  53.0% 60  20.8%  47.0% 128 24.0%  100.0%
elected in 2012 possess? {RF2Fy AL 51 4 LT
20126 BEATEUR'E » %H 3 vision for Hong Kong’s long- 175 71.9%  44.7% 217 749% = 55.3% 392 73.6% 100.0%
AT EDRE ? term development ¥ 75 £ %
BEARR
4 familiar with the operation of 76 31.3% 39.9% 115 39.8% 60.1% 191 35.9%  100.0%
the government BB RF
5 ability to win support from 42 17.2% 49.5% 43 14.8% 50.5% 85 15.9%  100.0%
various political parties 5% &
HREI LR
6 personal integrity and high 119 48.6% 45.1% 144 49.8% 54.9% 263 49.3%  100.0%
moral standard 75 {E A (5 Kz i
fERLE
8887 Others HAffl (please specify 4 1.5% 46.3% 4 1.4% 53.7% 8 1.4%  100.0%
L)
8888 Don’t know/hard to say [ 11 4.7% 58.5% 8 2.8% 41.5% 19 3.6% 100.0%
HIEe
Total 244 100.0% 45.7% 289  100.0% 54.3% 533 100.0% 100.0%
Pearson Chi-Square Tests
sex
Gender
R
$Q1 What qualities should the  Chi-square 11.597
chief executive who will be df 8
elected in 2012 possess? {&8 % Sig. 170
Results are based on nonempty rows and columns in each innermost subtable.
a. Some cell counts in this subtable are not integers. They were rounded to the n
Custom Tables
Ql x Age
agegp2 f
118-29 230-49 350 =Ll Total
Column Row Column Row Column Row Column Row
Valid N Valid N Valid N  Valid N Valid N  Valid N Valid N Valid N
Count % % Count % % Count % % Count % %
$Q1 What qualities should the 1 leadership 454544 # 72 T17% @ 21.4% 133 644%  39.1% 134 616%  39.6% 339 647% 100.0%
chief executive who will be 2 good relationship with Beijing 17 16.7% 13.3% 47 23.0% 37.3% 63 28.8% 49.4% 127 24.2%  100.0%
elected in 2012 possess? {2 ky Bk 5% i {4 EL4F
20126 F BEHIITIURE » %A 3 vision for Hong Kong’s long- 87 86.1%  224% 161 781%  41.3% 142 650%  36.4% 390  74.2%  100.0%
AT BDRE ? term development ¥ 73 £ %
HBRAEE
4 familiar with the operation of 43 42.7% 22.6% 79 38.2% 41.2% 69 31.7% 36.2% 191 36.4%  100.0%
the government B B JRF i (E
5 ability to win support from 16 16.3% 19.6% 35 168%  41.0% 33 152%  39.4% 84 16.0%  100.0%

various political parties 1551 &

BRI SRR



6 personal integrity and high 50 49.0% 19.0% 116 56.6% 44.7% 95 43.5% 36.4% 261 49.7%  100.0%
moral standard 75 {8 A 3% (2 K i
fERLE
8887 Others H:Afr (please specify 0 .0% 0% 2 8% 20.4% 6 2.8% 79.6% 8 15%  100.0%
FHEEH)
8888 Don’t know/hard to say I 0 .0% .0% 3 1.7% 23.7% 11 5.1% 76.3% 15 2.8%  100.0%
HIH
Total 101 100.0% 19.3% 206 100.0% 39.2% 218 100.0% 41.5% 525 100.0%  100.0%
Pearson Chi-Square Tests
agegp2 £¢
e
$Q1 What qualities should the  Chi-square 51.462
chief executive who will be df 16
elected in 2012 possess? K2/ Sig. 000”3
Results are based on nonempty rows and columns in each innermost subtable.
*. The Chi-square statistic is significant at the 0.05 level.a. Some cell counts in t
Custom Tables
Q1 x Education
edugp_TP Education level 24/
1 Primary or below /[NE2EL 3£ 5 2 Secondary £ 3 Tertiary or above AEELL |- Total
Column Row Column Row Column Row Column Row
Valid N Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N
Count % % Count % % Count % % Count % %
$Q1 What qualities should the 1 leadership 75 2524 45 33 45.4% 9.8% 154 63.7%  45.4% 152 70.6%  44.8% 339 64.0% 100.0%
chief executive who will be 2 good relationship with Beijing 20 27.8%  15.9% 64  266%  50.5% 43 19.9%  33.6% 127 240% 100.0%
elected in 2012 possess? {05 BildL 5T B 4 LT
20126 BENATEURE » A 3 vision for Hong Kong’s long- 39 542%  101% 178 73.8%  45.8% 172 798%  44.1% 389  73.6%  100.0%
LUFEDEE 2 term development %75 £ 3%
BREABE
4 familiar with the operation of 24 32.8% 12.5% 88 36.4% 45.9% 80 37.1% 41.6% 191 36.2%  100.0%
the government 4% B fif 3 (E
5 ability to win support from 12 16.2% 13.9% 34 14.0% 40.0% 39 18.2% 46.1% 85 16.0%  100.0%
various political parties 15-%1#%
BIREIZFE
6 personal integrity and high 24 32.5% 9.0% 120 49.7% 45.9% 118 54.8% 45.1% 261 49.4%  100.0%
moral standard 75 {i& A 3k (& K
TS
8887 Others H:A! (please specify 3 4.7% 44.6% 2 1% 22.3% 3 1.2% 33.2% 8 1.4%  100.0%
L)
8888 Don’t know/hard to say [ 10 14.0% 55.2% 7 3.1% 40.1% 1 4% 4.6% 18 3.5% 100.0%
KIS
Total 73 100.0% 13.8% 241 100.0% 45.6% 215  100.0% 40.6% 529  100.0%  100.0%
Pearson Chi-Square Tests
edugp_TP
Education
level £
JE
$Q1 What qualities should the  Chi-square 84.254
chief executive who will be df 16
elected in 2012 possess? 1375 Sig. .000",a

Results are based on nonempty rows and columns in each innermost subtable.
*. The Chi-square statistic is significant at the 0.05 level.a. Some cell counts in t

Custom Tables



Q1 x Occupation

occgp Occupation HikZE

1 Managers and administrators/ 2 Clerks / Service workers and 3 Workers 258 T\ 4 Students 224 5 Housewives 52 117 6 Others H:Aif, Total
Column Row Column Row Column Row Column Row Column Row Column Row Column Row
ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N
Count % % Count % % Count % % Count % % Count % % Count % % Count % %
$Q1 What qualities should the 1 leadership 54824 A 93 65.7% 27.6% 65 64.8% 19.4% 24 52.6% 7.0% 35 79.5% 10.3% 56 64.3% 16.8% 63  58.3% 18.8% 336 63.8%  100.0%
chief executive who will be 2 good relationship with Beijing 35 247%  27.2% 20 19.8%  15.6% 13 297%  10.4% 9 202% 6.9% 14 154%  105% 38 347%  29.4% 128 243% 100.0%
elected in 2012 possess? {RF0 By Bl 5t i {4 B 4F
20126 BEAATEUR'E » %H 3 vision for Hong Kong’s long- 110 77.9%  28.6% 80 795%  20.8% 35 77.3% 9.0% 35 81.2% 9.2% 66  756% @ 17.2% 59  545%  15.3% 386  73.2%  100.0%
AT EDRE ? term development ¥ 75 £ %
BEAHRR
4 familiar with the operation of 44 31.0% 23.0% 44 44.1% 23.4% 16 36.4% 8.6% 22 49.8% 11.4% 30 34.4% 15.8% 34 31.4% 17.9% 190 36.2%  100.0%
the government BB RF
5 ability to win support from 26 18.3% 30.9% 15 14.6% 17.6% 6 12.5% 6.7% 7 15.7% 8.2% 15 17.5% 18.3% 15 14.1% 18.3% 84 15.9%  100.0%
various political parties 1551 &
HOREI R
6 personal integrity and high 81 57.1% 31.2% 55 54.2% 21.1% 15 34.0% 5.9% 21 48.2% 8.1% 48 54.4% 18.4% 39 36.2% 15.2% 259 49.1%  100.0%
moral standard 7 {5 A\ 3% (S Kz i
fERLE
8887 Others HAffl (please specify 2 1.1% 20.4% 1 1.0% 12.8% 0 .0% .0% 0 .0% .0% 0 .0% .0% 5 4.7% 66.8% 8 1.5% 100.0%
L)
8888 Don’t know/hard to say [ 1 .6% 4.4% 0 .0% .0% 3 7.6% 17.6% 0 .0% .0% 2 2.6% 12.0% 13 11.8% 66.1% 19 3.7% 100.0%
HIEe
Total 141 100.0% 26.8% 101 100.0% 19.1% 45  100.0% 8.5% 44 100.0% 8.3% 88  100.0% 16.6% 108  100.0% 20.6% 527 100.0% 100.0%
Pearson Chi-Square Tests
occgp
Occupatio
n ks
$Q1 What qualities should the ~ Chi-square 115.338
chief executive who will be df 40
elected in 2012 possess? & Sig. 000",a,b,c
Results are based on nonempty rows and columns in each innermost subtable.
*. The Chi-square statistic is significant at the 0.05 level.a. More than 20% of ce
Custom Tables
Q2 x Gender
sex Gender 4 1]
1 Male 5 2 Female 7z Total
Column Row Column Row Column Row
Valid N Valid N Valid N Valid N Valid N Valid N
Count % % Count % % Count % %
$Q2 What are the top priorities 1 narrow the gap between the 160 65.5% 47.9% 174 60.1% 52.1% 333 62.6%  100.0%
of the next chief executive?{/Rz% rich and poor 4% & & = H
FLUFEDH T E(TEUREE 2 resume the Home Ownership 137 56.0% 45.8% 162 56.0% 54.2% 299 56.0%  100.0%
iR Scheme {7 /=Z
3 enact national security 13 5.4% 39.4% 20 7.0% 60.6% 33 6.3%  100.0%
legislation under Article 23 of
the Basic Law BEAE =
[CRVAZS
4 forge a consensus on ways to 86 35.3% 61.6% 54 18.6% 38.4% 140 26.2%  100.0%
abolish functional constituencies
LA BERR I A S T RE AR 1 BE
ASR=Es
5 improve air quality 203% 25 & 37 15.0% 32.4% 76 26.4% 67.6% 113 21.2%  100.0%

CES



6 set up a universal retirement 82 33.7% 45.1% 100 34.7% 54.9% 182 34.2%  100.0%
protection scheme 3% 174 FRiE
IR EREE IR
7 introduce a health care 92 37.8% 47.1% 104 35.8% 52.9% 196 36.8%  100.0%
financing scheme #1758 ERl &
Bl
8 introducing standard working 33 13.4% 39.9% 49 17.0% 60.1% 82 15.4%  100.0%
hours il 7 F236E TiF
8887 Others Hfif; (please specify 9 38%  74.4% 3 11%  25.6% 12 2.3%  100.0%
GEEEA)
8888 Don’t know/hard to say & 4 1.7% 32.8% 8 2.9% 67.2% 12 2.3% 100.0%
IS
Total 244 100.0% 45.7% 289  100.0% 54.3% 533  100.0%  100.0%
Pearson Chi-Square Tests
sex
Gender
TER
$Q2 What are the top priorities  Chi-square 37.170
of the next chief executive?{RZ  df 10
R TEDG METEHEEY sig. .000",a
Results are based on nonempty rows and columns in each innermost subtable.
*. The Chi-square statistic is significant at the 0.05 level.a. Some cell counts in t
Custom Tables
Q2 x Age
agegp2 it
118-29 230-49 350 =Ll 1 Total
Column Row Column Row Column Row Column Row
ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N
Count % % Count % % Count % % Count % %
$Q2 What are the top priorities 1 narrow the gap between the 75 74.0% 22.5% 131 63.5% 39.4% 127 58.1% 38.1% 332 63.3%  100.0%
of the next chief executive?{3%  rich and poor 4% & & #FE
LU NEDEH NMETEHR'EE 2 resume the Home Ownership 62 61.7% 21.2% 111 53.8% 37.7% 121 55.3% 41.0% 294 55.9%  100.0%
PR BTS2 Scheme i EE
3 enact national security 2 2.2% 6.5% 16 7.8% 48.3% 15 6.9% 45.2% 33 6.4%  100.0%
legislation under Avrticle 23 of
the Basic Law ARt AL =+ =
[FavazS
4 forge a consensus on ways to 28 28.1% 20.3% 57 27.5% 40.5% 55 25.1% 39.2% 140 26.6%  100.0%
abolish functional constituencies
LA ERR I ST T AR AR B SR
T eI
5 improve air quality (7E525 & 26 25.4% 22.8% 52 25.5% 46.7% 34 15.7% 30.5% 112 21.4%  100.0%
6 set up a universal retirement 32 31.2% 17.4% 62 29.9% 33.9% 88 40.5% 48.7% 181 345%  100.0%
protection scheme 5% 17 4= R
PR PR
7 introduce a health care 26 25.7% 13.3% 75 36.6% 38.8% 93 42.8% 47.9% 195 37.1%  100.0%
financing scheme 17 5& eI &
il
8 introducing standard working 32 31.5% 39.4% 31 14.9% 38.0% 18 8.4% 22.6% 81 15.4%  100.0%
hours {5 R THRF
8887 Others ELftt (please specify 1 6% 5.0% 1 6%  10.1% 10 48%  84.9% 12 2.4%  100.0%
L)
8888 Don’t know/hard to say & 0 .0% .0% 7 3.4% 62.0% 4 2.0% 38.0% 11 2.1% 100.0%
eill =
Total 101  100.0% 19.3% 206  100.0% 39.2% 218  100.0% 41.5% 525 100.0%  100.0%

Pearson Chi-Square Tests



$Q2 What are the top priorities
of the next chief executive?{R52
ELXTED{%:TM?T&&ET%

agegp2 4
e

Chi-square 76.869
df 20
Sig. .000",a,b

Results are based on nonempty rows and columns in each innermost subtable.
*. The Chi-square statistic is significant at the 0.05 level.a. More than 20% of ce

Custom Tables

Q2 x Education

edugp_TP Education level 24/

1 Primary or below /NE2HE ¥ 5Y 2 Secondary HHE2 3 Tertiary or above KE LI Total
Column Row Column Row Column Row Column Row
ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N
Count % % Count % % Count % % Count % %
$Q2 What are the top priorities 1 narrow the gap between the 40 55.2% 12.1% 146 60.3% 43.9% 146 68.0% 44.0% 332 62.8%  100.0%
of the next chief executive?{/ki% rich and poor 4575 & & Z=FE
B TEDEG FMETEERESE 2 resume the Home Ownership 41 56.9% 14.0% 140 57.9% 47.1% 115 53.7% 38.9% 297 56.0%  100.0%
FERR BT ? Scheme 1= 2
3 enact national security 4 4.9% 10.6% 20 8.1% 58.7% 10 4.8% 30.8% 33 6.3%  100.0%
legislation under Article 23 of
the Basic Law JiiAu L — =
[ vars
4 forge a consensus on ways to 7 9.5% 5.0% 62 25.5% 44.3% 70 32.7% 50.7% 139 26.2%  100.0%
abolish functional constituencies
FEA0 A BERR LA S T AE A BE
TR
5 improve air quality 7325 4, 12 163%  105% 49 202%  43.1% 52 244%  46.4% 113 214% 100.0%
6 set up a universal retirement 29 39.4% 15.7% 86 35.7% 47.3% 68 31.4% 37.0% 182 34.5%  100.0%
protection scheme 3% 174 FIR
IRERBEHIE
7 introduce a health care 28 38.8% 14.6% 89 36.7% 45.7% 7 35.8% 39.7% 194 36.6%  100.0%
financing scheme #7778 Rl
Gl
8 introducing standard working 5 7.3% 6.5% 33 13.7% 40.2% 44 20.3% 53.3% 82 15.5%  100.0%
hours 5 R TR
8887 Others H:Af! (please specify 3 3.7% 21.7% 7 3.0% 58.5% 2 1.1% 19.8% 12 2.3% 100.0%
L)
8888 Don’t know/hard to say [Z 5 6.7% 45.1% 4 1.8% 40.5% 2 1% 14.4% 11 2.0% 100.0%
falk i
Total 73 100.0% 13.8% 241 100.0% 45.6% 215  100.0% 40.6% 529  100.0%  100.0%
Pearson Chi-Square Tests
edugp_TP
Education
level £
JE
$Q2 What are the top priorities ~ Chi-square 49.512

of the next chief executive?{Rz%  df 20
B FEDE FEFBEED sig 0002
Results are based on nonempty rows and columns in each innermost subtable.

*. The Chi-square statistic is significant at the 0.05 level.a. Some cell counts in t

Custom Tables

Q2 x Occupation



occgp Occupation 2%

1 Managers and administrators/ 2 Clerks / Service workers and 3 Workers %7 T. A 4 Students 244 5 Housewives 5 Ji£ - i 6 Others H:Atlr Total
Column Row Column Row Column Row Column Row Column Row Column Row Column Row
ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N ValidN  Valid N Valid N Valid N
Count % % Count % % Count % % Count % % Count % % Count % % Count % %
$Q2 What are the top priorities 1 narrow the gap between the 100 70.6% 30.4% 63 62.1% 19.1% 26 57.4% 7.9% 29 66.9% 8.9% 50 56.8% 15.2% 61 56.0% 18.5% 328 62.2%  100.0%
of the next chief executive?{/RzZ rich and poor 4E7E & & 7= FH
BLLTEDEH TETBHEE 2 resume the Home Ownership 78 549%  26.2% 56  552%  18.8% 25  55.4% 8.4% 28 64.5% 9.5% 48 549%  16.2% 62 575%  21.0% 297  56.3%  100.0%
TR IR 2 Scheme {EHEE
3 enact national security 10 7.2% 30.4% 5 5.3% 16.0% 2 5.0% 6.7% 1 2.5% 3.3% 7 8.4% 22.1% 7 6.7% 21.5% 33 6.4%  100.0%
legislation under Article 23 of
the Basic Law AR Ak =+ =
RILE
4 forge a consensus on ways to 56 39.9% 41.3% 26 26.2% 19.3% 9 21.1% 6.9% 9 20.7% 6.6% 18 20.7% 13.3% 17 15.9% 12.6% 137 26.0%  100.0%
abolish functional constituencies
FEAN A BERR LA ST T AE AE A BE
paRpist
5 improve air quality I35 25 58 31 21.8% 27.7% 22 22.2% 20.2% 8 18.2% 7.4% 15 33.4% 13.1% 23 25.8% 20.4% 12 11.4% 11.2% 111 21.0%  100.0%
CES
6 set up a universal retirement 39 27.8% 21.7% 38 37.9% 21.2% 23 50.9% 12.7% 15 34.8% 8.4% 35 40.4% 19.6% 30 27.3% 16.4% 181 34.3%  100.0%
protection scheme 5% 17 [RIE
IRERIFE I
7 introduce a health care 46 32.6% 23.7% 46 45.2% 23.5% 18 39.2% 9.1% 10 22.0% 4.9% 35 39.9% 18.0% 40 37.1% 20.8% 194 36.8%  100.0%
financing scheme #1758 & gl &
B il
8 introducing standard working 23 16.5% 28.5% 18 17.8% 21.8% 4 8.5% 4.7% 14 31.6% 16.7% 16 17.7% 18.9% 8 7.1% 9.4% 82 15.6%  100.0%
hours il E fE24E T F
8887 Others H:Atfl (please specify 1 .6% 6.9% 2 1.8% 14.8% 2 5.0% 18.0% 1 1.4% 5.0% 2 1.9% 13.8% 5 4.7% 41.5% 12 2.3% 100.0%
FEEH)
8888 Don’t know/hard to say & 3 1.8% 20.6% 0 .0% .0% 2 5.3% 19.1% 0 .0% .0% 2 2.8% 19.9% 5 4.6% 40.4% 12 2.4%  100.0%
Ptk
Total 141 100.0% 26.8% 101 100.0% 19.1% 45  100.0% 8.5% 44 100.0% 8.3% 88  100.0% 16.6% 108  100.0% 20.6% 527 100.0%  100.0%
Pearson Chi-Square Tests
occgp
Occupatio
n JsE
$Q2 What are the top priorities  Chi-square 96.028
of the next chief executive?{Rz%  df 50
R TEDHTHETEHEES  Sig. .000",a,b
Results are based on nonempty rows and columns in each innermost subtable.
*. The Chi-square statistic is significant at the 0.05 level.a. More than 20% of ce
Crosstabs
Q3 x Gender
Crosstab
sex Gender ‘4 571
2 Female
1 Male 5 #“© Total
Q3 If you were to vote for CE 1 Leung Chun-yingZ2$E5 Count 89 66 155
tomorrow and there are only % within 36.6% 22.9% 29.1%
XXX as candidates, who would sex
you vote for? #1155 H {5 {4 Gender
SEBERTE 0 TS LUAXXX PR
 (rErEEiE(E 2 Rita Fan Hsu Lai-tai;ii {842 Count 43 59 103
% within 17.8% 20.4% 19.2%
sex
Gender
PR
3 Henry Tang Ying-yenf##:4£  Count 31 44 75



% within 12.6% 15.2% 14.0%
sex
Gender
PR
4 Albert Ho Chun-yan {a{£#{=  Count 14 10 24
% within 5.6% 3.5% 4.4%
sex
Gender
PR
5 Regina Ip Lau Suk-yeeZEZ5  Count 26 47 73
f# 9% within 106%  16.4%  13.8%
sex
Gender
PR
8886 None of the above L) |- Count 27 42 69
= % within 11.1% 14.5% 12.9%
sex
Gender
PR
8888 Don’t know/hard to say I Count 14 21 35
H % % within 5.7% 7.1% 6.5%
sex
Gender
MR
Total Count 244 289 533
% within 100.0% 100.0%  100.0%
sex
Gender
PR
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 15.747% .015
Likelihood Ratio 15.793 .015
Linear-by-Linear Association 1.920 .166
N of Valid Cases 533
a. 0 cells (.0%) have expected count less than 5. The minimum expected count is 10.80.
Q3 x Age
Crosstab
agegp2 4Fi
350 =LA
118-29 230-49 L Total
Q3 If you were to vote for CE 1 Leung Chun-yingZ2 R 5% Count 22 69 63 155
tomorrow and there are only % within 22.2% 33.7% 28.8% 29.5%
XXX as candidates, who would agegp2 4
you vote for? #1554 H {# % id
SEBEREE - 2885 LA XXX 2 Rita Fan Hsu Lai-taiiif& 2 Count 30 41 30 101
 IREEREE 2 % within 29.7%  201%  13.8%  19.3%
agegp2 4
3 Henry Tang Ying-yenf##:4£  Count 16 19 37 73
% within 16.1% 9.3% 17.1% 13.8%
agegp2 4
4 Albert Ho Chun-yan {i{£#{=  Count 3 9 11 24
% within 3.0% 4.5% 5.2% 4.5%
agegp2 ¢
i
5 Regina Ip Lau Suk-yeeZ£%3  Count 15 25 33 73



f# 9% within 145%  123%  153%  14.0%
agegp2 ¢
i
8886 None of the above [} |-% Count 10 33 25 68
i % within 10.2% 16.1% 11.4% 13.0%
agegp2 ¢
i
8888 Don’t know/hard to say IZ  Count 5 8 18 31
HIH % within 4.5% 4.0% 8.4% 5.9%
agegp2 £F
i
Total Count 101 206 218 525
% within 100.0%  100.0% 100.0%  100.0%
agegp2 £F
i
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 25.440% 12 .013
Likelihood Ratio 25.379 12 .013
Linear-by-Linear Association .846 1 .358
N of Valid Cases 525
a. 1 cells (4.8%) have expected count less than 5. The minimum expected count is 4.55.
Q3 x Education
Crosstab
edugp_TP Education level £2fF
1 Primary 3 Tertiary
or below 2 or above
/N2 ELEE Secondary A EEERLL
HUT g s Total
Q3 If you were to vote for CE 1 Leung Chun-yingZ2 4z Count 19 73 61 153
tomorrow and there are only % within 255%  304%  285% 28.9%
XXX as candidates, who would edugp_TP
you vote for? 4158 H 5 {7 4% Education
SEBERTE S HUAXXX level £
» IR RS ? i
2 Rita Fan Hsu Lai-taisi{&# % Count 8 47 47 103
% within 11.1% 19.5% 22.0% 19.4%
edugp_TP
Education
level £
JE
3 Henry Tang Ying-yenf# %4 Count 19 33 22 74
% within 25.5% 13.7% 10.4% 14.0%
edugp_TP
Education
level £
i
4 Albert Ho Chun-yan {i{£#{~  Count 1 10 13 24
% within 1.2% 4.0% 6.1% 4.5%
edugp_TP
Education
level £
JE
5 Regina Ip Lau Suk-yee#: £ Count 9 31 33 73



3 % within 12.0%  13.0%  155%  13.9%
edugp_TP
Education
level £
i

8886 None of the above L) |- Count 9 28 32 69
= % within 12.1% 11.6% 15.0% 13.0%
edugp_TP
Education
level £

i3

8888 Don’t know/hard to say 'Z Count 9 19 6 34
HIH % within 12.7% 7.8% 2.6% 6.4%
edugp_TP
Education
level 22
i

Total Count 73 241 215 529
% within 100.0% 100.0%  100.0%  100.0%
edugp_TP
Education
level 22
i

Chi-Square Tests

Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 27.855% 12 .006
Likelihood Ratio 28.081 12 .005
Linear-by-Linear Association 1.572 1 .210
N of Valid Cases 529

a. 2 cells (9.5%) have expected count less than 5. The minimum expected count is 3.25.

Q3 x Occupation
Crosstab
occgp Occupation i3
1
Managers
and 2 Clerks/
administr ~ Service
ators/ workers
Professio and shop 5
nals {TEL  sales X 4 Housewiv
REEE A Mk LA 3 Workers Students es ZfEX 6 Others
=1 AB BHIA 24 i ot Total
Q3 If you were to vote for CE 1 Leung Chun-yingZ2#E 3t Count 43 37 14 10 18 32 154
tomorrow and there are only % within 30.4% 37.0% 31.1% 23.1% 20.4% 29.7% 29.3%
XXX as candidates, who would occgp
you vote for? #1155 H {5 1% Occupatio
SRR 0 IS EEE HAXXX n s
» RETEEE 2 Rita Fan Hsu Lai-tais5{f %= Count 27 21 9 17 16 12 101
% within 18.9% 20.7% 20.1% 38.4% 18.1% 10.8% 19.1%
occgp
Occupatio

3 Henry Tang Ying-yenE 544 Count 12 11 7 9 13 20 73



% within 8.8% 10.7% 16.3% 21.5% 14.8% 18.8% 13.9%
occgp
Occupatio
4 Albert Ho Chun-yan {a{£#{=  Count 10 5 1 1 4 2 22
% within 7.3% 5.2% 2.2% 1.4% 4.1% 1.6% 4.2%
occgp
Occupatio
URHES
5 Regina Ip Lau Suk-yeeZEZ5  Count 21 13 8 3 17 11 73
&% % within 14.6% 12.8% 18.7% 7.8% 19.1% 10.3% 13.9%
occgp
Occupatio
n ik
8886 None of the above L) |- Count 24 10 4 2 12 16 68
= % within 16.8% 10.3% 8.9% 5.0% 13.2% 14.6% 12.9%
occgp
Occupatio
URHES
8888 Don’t know/hard to say I Count 4 3 1 1 9 15 35
HISE % within 3.1% 3.3% 2.6% 2.7% 10.4% 14.3% 6.6%
occgp
Occupatio
n sk
Total Count 141 101 45 44 88 108 527
% within 100.0% 100.0%  100.0%  100.0% 100.0%  100.0%  100.0%
occgp
Occupatio
n e
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 58.920° 30 .001
Likelihood Ratio 57.841 30 .002
Linear-by-Linear Association 4.407 1 .036
N of Valid Cases 527
a. 7 cells (16.7%) have expected count less than 5. The minimum expected count is 1.85.
Crosstabs
Q4 x Gender
Crosstab
sex Gender ‘4 571
2 Female
1 Male 5 #“© Total
Q4 If you were to vote for CE 1 Henry Tang Ying-yenj##:4:  Count 47 79 126
tomorrow and there are only % within 19.2% 27.3% 23.6%
XXX as candidates, who would sex
you vote for? 155 H & {4 Gender
SEBERTE 0 TS LUAXXX PR
» IR e B ? 2 Leung Chun-ying 224z 5% Count 140 138 279
% within 57.5% 47.8% 52.3%
sex
Gender
PR
8886 None of the above [} |-% Count 45 60 105
i % within 18.6% 20.7% 19.7%
sex
Gender

MR




8888 Don’t know/hard to say & Count 12 12 24
IS % within 4.7% 4.2% 4.4%
sex
Gender
PRI
Total Count 244 289 533
% within 100.0%  100.0%  100.0%
sex
Gender
PR
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 6.497% 3 .090
Likelihood Ratio 6.545 3 .088
Linear-by-Linear Association 181 1 .670
N of Valid Cases 533
a. 0 cells (.0%) have expected count less than 5. The minimum expected count is 10.79.
Q4 x Age
Crosstab
agegp2 i
350 =L
118-29 230-49 L Total
Q4 If you were to vote for CE 1 Henry Tang Ying-yen/# 324  Count 30 39 55 123
tomorrow and there are only % within 29.3% 18.9% 25.0% 23.4%
XXX as candidates, who would agegp2 4
you vote for? QIR H % /K% 4
SRR 0 23 HAXXX 2 Leung Chun-ying 22 R5E Count 52 114 111 277
IR e {E ? %within  51.3%  554% 511%  52.8%
agegp2 4f:
54
8886 None of the above L) |- Count 16 49 40 105
= % within 15.4% 24.0% 18.1% 19.9%
agegp2 4
54
8888 Don’t know/hard to say I& Count 4 3 13 20
IS % within 3.9% 1.7% 5.7% 3.8%
agegp2 4
54
Total Count 101 206 218 525
% within 100.0% 100.0% 100.0%  100.0%
agegp2 4
54
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 11.667% 6 .070
Likelihood Ratio 12.028 6 .061
Linear-by-Linear Association 417 1 519
N of Valid Cases 525

a. 1 cells (8.3%) have expected count less than 5. The minimum expected count is 3.84.

Q4 x Education

Crosstab

edugp_TP Education level £fF




1 Primary 3 Tertiary
or below 2 or above
/NEREESE Secondary K TEE(LL
E s iE Total
Q4 If you were to vote for CE 1 Henry Tang Ying-yenf#F 324  Count 22 60 43 124
tomorrow and there are only % within 29.9% 24.7% 19.8% 23.4%
XXX as candidates, who would edugp_TP
you vote for? %155 H R4 Education
ST 0 TS HUAXXX level £
» IRE B ? li7d
2 Leung Chun-ying 224 % Count 31 127 119 276
% within 42.4% 52.4% 55.4% 52.2%
edugp_TP
Education
level £
JEE
8886 None of the above L _FE Count 13 44 48 105
= % within 18.3% 18.2% 22.3% 19.9%
edugp_TP
Education
level £
8888 Don’t know/hard to say IZ Count 7 11 5 24
Ptk % within 9.4% 4.7% 2.5% 4.5%
edugp_TP
Education
level &%
JEE
Total Count 73 241 215 529
% within 100.0% 100.0%  100.0%  100.0%
edugp_TP
Education
level £
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 11.377% 6 077
Likelihood Ratio 10.814 6 .094
Linear-by-Linear Association .042 1 837
N of Valid Cases 529
a. 1 cells (8.3%) have expected count less than 5. The minimum expected count is 3.25.
Q4 x Occupation
Crosstab
occgp Occupation i3
1
Managers
and 2 Clerks /
administr ~ Service
ators/ workers
Professio and shop 5
nals 7 sales 52 4 Housewiv

FLESE N B KRS 3 Workers Students  es 525E

=

AR ZEHTA

24

i

6 Others
FHoAttr

Total



Q4 If you were to vote for CE 1 Henry Tang Ying-yenfE#i4E  Count 26 18 8 17 25 30 124
tomorrow and there are only % within 18.7% 17.8% 18.5% 39.7% 28.0% 27.6% 23.6%
XXX as candidates, who would occgp
you vote for? #1155 H {# 1#% Occupatio
SRR 0 2R TUEXXX n ik
» IREBEE{E ? 2 Leung Chun-ying J2Hz 5% Count 78 62 28 20 37 51 275
% within 54.9%  61.3% 623% 466% 41.7%  46.6% 52.2%
occgp
Occupatio
n s
8886 None of the above L) |- Count 33 19 9 5 22 17 104
= % within 23.1% 18.9% 19.2% 12.2% 24.8% 15.3% 19.7%
occgp
Occupatio
URHES
8888 Don’t know/hard to say IZ  Count 5 2 0 1 5 11 24
Rz % within 3.3% 2.1% .0% 1.4% 5.5% 10.5% 4.5%
occgp
Occupatio
n sk
Total Count 141 101 45 44 88 108 527
% within 100.0% 100.0%  100.0%  100.0%  100.0%  100.0%  100.0%
occgp
Occupatio
n ke
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 32.806% 15 .005
Likelihood Ratio 32.694 15 .005
Linear-by-Linear Association 189 1 .664
N of Valid Cases 527
a. 5 cells (20.8%) have expected count less than 5. The minimum expected count is 1.95.
Crosstabs
Q5 x Gender
Crosstab
sex Gender ‘4 51
2 Female
1 Male 5 #“© Total
Q5 If you were to vote for CE 1 Rita Fan Hsu Lai-tai S22 Count 73 115 188
tomorrow and there are only % within 30.1% 39.8% 35.4%
XXX as candidates, who would sex
you vote for? #1155 H & {4 Gender
SEBERTE 0 TS LUAXXX PR
» IRE B ? 2 Leung Chun-ying 224z 5% Count 127 117 244
% within 52.0% 40.6% 45.8%
sex
Gender
MR
8886 None of the above [/ =& Count 35 46 81
&5 % within 14.4% 16.1% 15.3%
sex
Gender
PR
8888 Don’t know/hard to say & Count 9 10 19



park = % within 3.6% 3.6% 3.6%

sex
Gender
PR
Total Count 244 289 533
% within 100.0% 100.0%  100.0%
sex
Gender
PR
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 7548 3 .056
Likelihood Ratio 7572 3 .056
Linear-by-Linear Association 237 1 .626
N of Valid Cases 533

a. 0 cells (.0%) have expected count less than 5. The minimum expected count is 8.75.

Q5 x age
Crosstab
agegp2 4R
350 5 LA
118-29 230-49 k Total
Q5 If you were to vote for CE 1 Rita Fan Hsu Lai-tai SE{:fE% Count 54 67 67 188
tomorrow and there are only % within 53.8% 32.3% 30.7% 35.8%
XXX as candidates, who would agegp2 4
you vote for? 41 58 H 15 4% [ird
SLEERTE 288 A XXX 2 Leung Chun-ying 225 5% Count 36 94 112 241
» REEEE ? % within 35.8% 454%  513%  46.0%
agegp2 4
8886 None of the above [ |- Count 8 43 29 81
& % within 8.3% 21.1% 13.3% 15.4%
agegp2 4
8888 Don’t know/hard to say IZ Count 2 3 10 15
etk a3 % within 2.2% 1.2% 4.6% 2.8%
agegp2 4
[ind
Total Count 101 206 218 525
% within 100.0%  100.0%  100.0%  100.0%
agegp2 4
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 27.759% 6 .000
Likelihood Ratio 27.113 6 .000
Linear-by-Linear Association 1.201 1 273

N of Valid Cases 525

a. 1 cells (8.3%) have expected count less than 5. The minimum expected count is 2.86.

Q5 x Education

Crosstab

edugp_TP Education level £2Jf%




1 Primary 3 Tertiary
or below 2 or above
/NEREESE Secondary K TEE(LL
E s L Totl
Q5 If you were to vote for CE 1 Rita Fan Hsu Lai-tai SE#2%% Count 22 79 87 188
tomorrow and there are only % within 30.1% 32.9% 40.5% 35.6%
XXX as candidates, who would edugp_TP
you vote for? %155 H R4 Education
ST 0 TS HUAXXX level £
» IRE B ? li7d
2 Leung Chun-ying 224 % Count 38 117 86 241
% within 52.5% 48.5% 40.0% 45.6%
edugp_TP
Education
level £
JEE
8886 None of the above L _FE Count 8 33 41 81
i % within 10.7% 13.6% 18.9% 15.4%
edugp_TP
Education
level £
8888 Don’t know/hard to say IZ Count 5 12 1 18
Ptk % within 6.7% 5.0% 5% 3.4%
edugp_TP
Education
level &%
JEE
Total Count 73 241 215 529
% within 100.0% 100.0%  100.0%  100.0%
edugp_TP
Education
level £
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 17.999% 6 .006
Likelihood Ratio 20.317 6 .002
Linear-by-Linear Association .150 1 .698
N of Valid Cases 529
a. 1 cells (8.3%) have expected count less than 5. The minimum expected count is 2.49.
Q5 x Occupation
Crosstab
occgp Occupation i3
1
Managers
and 2 Clerks /
administr ~ Service
ators/ workers
Professio and shop 5
nals 7 sales 52 4 Housewiv

FLESE N B KRS 3 Workers Students  es 525E
& AR BEHTA B4 i

6 Others
FHoAttr

Total



Q5 If you were to vote for CE 1 Rita Fan Hsu Lai-tai 5u{RFEZE Count 44 34 17 26 34 30 186
tomorrow and there are only % within 31.4% 33.8% 37.2% 60.3% 38.5% 27.9% 35.2%
XXX as candidates, who would occgp
you vote for? #1155 H {# 1#% Occupatio
SRR 0 2R TUEXXX n ik
» IREBEE{E ? 2 Leung Chun-ying J2Hz 5% Count 63 52 22 15 35 55 242
% within 448%  516%  48.0% 33.6%  402%  50.8% 45.9%
occgp
Occupatio
n s
8886 None of the above L) |- Count 33 14 7 3 14 11 80
= % within 23.0% 13.5% 14.7% 6.1% 15.8% 10.1% 15.2%
occgp
Occupatio
URHES
8888 Don’t know/hard to say IZ  Count 1 1 0 0 5 12 19
Rz % within .8% 1.1% .0% .0% 5.5% 11.2% 3.6%
occgp
Occupatio
n sk
Total Count 141 101 45 44 88 108 527
% within 100.0% 100.0%  100.0%  100.0%  100.0%  100.0%  100.0%
occgp
Occupatio
n ke
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 49.920% 15 .000
Likelihood Ratio 48.198 15 .000
Linear-by-Linear Association .029 1 .864
N of Valid Cases 527
a. 5 cells (20.8%) have expected count less than 5. The minimum expected count is 1.58.
Crosstabs
Q6 x Gender
Crosstab
sex Gender ‘4 51
2 Female
1 Male 5 #“© Total
Q6 Henry Tang Ying-yen earlier 1 Turn positive 1Ffj Count 4 3 7
admitted that he had strayed in % within 1.5% 1.1% 1.3%
his love life. Has the incident sex
caused any positive impact, Gender
negative impact or no impact on TR
your view for Tang to run inthe 2 Turn negative & fi Count 61 73 134
CE election? [EYL4E FLATFRR %within ~ 250%  252%  25.1%
HC MRS Eg&aE sex
Gender
MR
3 No impactf7 8 Count 166 193 359
% within 68.2%  66.8% 67.4%
sex
Gender
PR
4 Don’t support him in the first ~ Count 8 11 19



place A G 37 ¢l % within 3.3% 3.8% 3.6%
sex
Gender
PR
8888 Don’t know/hard to say & Count 5 9 14
IS % within 1.9% 3.2% 2.6%
sex
Gender
PR
Total Count 244 289 533
% within 100.0%  100.0%  100.0%
sex
Gender
PR
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 1.082% 4 .897
Likelihood Ratio 1.100 4 .894
Linear-by-Linear Association .809 1 .368
N of Valid Cases 533
a. 2 cells (20.0%) have expected count less than 5. The minimum expected count is 3.10.
Q6 x age
Crosstab
agegp2 “Fiic
350 5 L,
118-29 230-49 L Total
Q6 Henry Tang Ying-yen earlier 1 Turn positive 1F i Count 1 0 6 7
admitted that he had strayed in % within .9% .0% 2.7% 1.3%
his love life. Has the incident agegp2 4
caused any positive impact, [
negative impact or no impact on 2 Turn negative £ i Count 24 60 48 132
your view for Tang to run in the % within 23.9% 29.1% 22.0% 25.2%
CE election? ngz*figiﬁ%m agegp?2 4E
Ho "R L&A i
3 No impact77 % Count 73 137 143 353
% within 72.0% 66.6% 65.7% 67.3%
agegp2 4
4
4 Don’t support him in the first ~ Count 3 7 9 19
place s 5 Sz it % within 3.2% 3.2% 4.2% 3.6%
agegp2 4
54
8888 Don’t know/hard to say & Count 0 2 12 14
IS % within 0% 11% 5.4% 2.7%
agegp2 4
54
Total Count 101 206 218 525
% within 100.0% 100.0% 100.0%  100.0%
agegp2 4
54
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 19.796% 8 011
Likelihood Ratio 23.505 8 .003
Linear-by-Linear Association 9.874 1 .002

N of Valid Cases

525




a. 5 cells (33.3%) have expected count less than 5. The minimum expected count is 1.30.

Q6 x education

Crosstab

edugp_TP Education level £2fF

1 Primary 3 Tertiary
or below 2 or above
JNEZERSE Secondary AEEEL DL
ES iE Total
Q6 Henry Tang Ying-yen earlier 1 Turn positive 1F & Count 3 3 1 7
admitted that he had strayed in % within 3.7% 1.3% 4% 1.3%
his love life. Has the incident edugp_TP
caused any positive impact, Education
negative impact or no impact on level £2
your view for Tang to run in the Jiid
2 Turn negative & Count 14 60 59 133
% within 18.7% 24.7% 27.6% 25.1%
edugp_TP
Education
level 22
JEE
3 No impactf7 48 Count 48 157 152 357
% within 65.7%  652%  70.5% 67.4%
edugp_TP
Education
level £
4 Don’t support him in the first ~ Count 2 14 3 19
place A 5 7 ¢ Al % within 2.3% 5.9% 1.5% 3.6%
edugp_TP
Education
level &2
JEE
8888 Don’t know/hard to say I& Count 7 7 0 14
IS % within 9.6% 2.9% .0% 2.6%
edugp_TP
Education
level £
Total Count 73 241 215 529
% within 100.0%  100.0%  100.0%  100.0%
edugp_TP
Education
level £
JE
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 32.421% 8 .000
Likelihood Ratio 32.432 8 .000
Linear-by-Linear Association 17.894 1 .000

N of Valid Cases

529

a. 5 cells (33.3%) have expected count less than 5. The minimum expected count is .93.



Q6 x occupation

Crosstab
occgp Occupation Ji 3¢
1
Managers
and 2 Clerks /
administr ~ Service
ators/ workers
Professio and shop 5
nals {7IE;  sales 32 4 Housewiv
JEESE N B IRFS 3 Workers  Students es ZZi£ Y+ 6 Others
8 AB  BHIA 24 i FHoAth Total
Q6 Henry Tang Ying-yen earlier 1 Turn positive 1F & Count 1 0 0 1 2 3 7
admitted that he had strayed in % within 6% 0% 0% 2.2% 2.6% 2.5% 1.3%
his love life. Has the incident ocegp
caused any positive impact, Occupatio
negative impact or no impact on n e
your view for Tang to run inthe 2 Turn negative & ai Count 42 27 7 12 19 25 132
CE election? FFHLAF R AT RIR % within 29.7%  268%  159%  26.7% @ 221%  22.7%  25.0%
B TEIE ReaaE occgp
Occupatio
n ke
3 No impact77 Count 97 71 31 29 60 67 355
% within 686%  708% 68.7% 664% 685%  61.9% 67.4%
occgp
Occupatio
n sk
4 Don’t support him in the first ~ Count 2 2 3 2 5 5 19
place A 5 S ¢l % within 1.1% 2.4% 6.7% 4.7% 5.8% 4.5% 3.6%
occgp
Occupatio
n e
8888 Don’t know/hard to say I& Count 0 0 4 0 1 9 14
IS % within .0% .0% 8.6% .0% 1.0% 8.5% 2.7%
occgp
Occupatio
n JsE
Total Count 141 101 45 44 88 108 527
% within 100.0%  100.0%  100.0%  100.0% 100.0% 100.0%  100.0%
occgp
Occupatio
n e
Chi-Square Tests
Asymp.
Sig. (2-
Value df sided)
Pearson Chi-Square 43.469° 20 .002
Likelihood Ratio 45.941 20 .001
Linear-by-Linear Association 12.298 1 .000

N of Valid Cases 527

a. 17 cells (56.7%) have expected count less than 5. The minimum expected count is .56.



